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Given: —x° +4+1=35 and 5x* +3x2-2=430
A=2x+13
B=81+6

What is the value of x?
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Given: —x° —A4—12=38 and 4x*+4x2 - 13 =347
A=6x-5
B=2x+10

What is the value of 4?
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Given: x> —A4—-13=-21 and 3x*-B-12=258
A=-2x-25
B=-2x"-9

What is the value of x?
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Given: x> +A4—-13=-27 and 5x*+B-17=33
A=-22-10
B=-5x2-10

What is the value of 4?
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Given: x> +B+1=106 and —3x* - 322 —4=-1954
A=-8c+1
B=-4x+0

What is the value of x?
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Given: —x° — A4+ 18 =96 and 4x* —5x2 +23 =967
A=2x—6
B=dx—1

What is the value of x?
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Given: -2 +4-7=238 and 7x*-B-8=117
A=—6x+17
B=-4x*+3

What is the value of B?

Given: -2x> +A+5=-41 and x*+B+7=160
A=—d4x-22
B=82+9

What is the value of 4?
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Given: —2x> +A4—12=-40 and —7x" +B(—4x+9)— 11 =—140
A=—4x—4
B=—4x-9

What is the value of 47
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Given: 6x° +4+18=391 and —8&*—B(5x—13)+15=-2264
A=-2x-3
B=5x+13

What is the value of 47
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2
Given: =X =7 _BC 14 4B+2+3 - 1461

x2-302 4B
AB = 5x% — 1020
BC=-2x2 672

What is the value of x?

2
Given: v -8 _BC and AB - 3x° =203

n2-_7 4B
AB =3x*+97
BC =-3x? +243
What is the value of BC?
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Given: E _BC and 3x° — 4B = -2181
Hr-127 4B
AB = -3x% + 837
BC =—5x>+970
What is the value of BC?
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Given: 4+ C =306 and mﬁxm +2x) = 9900
A=-3x"—4x-20
B=4x"-2x

C=-3x?—6x—24

What is the value of C?
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Given: 4+ C =206 and m@w.m —5x)=1904
A=—4x* —4x+26
B=3x"+5x

C=—4x>+6x—4

What is the value of x?

Given: A+C=-31 and B(—4x”+5x)=3696
A=-2%14x426
B = —4x% - 5¢

C=2?+6xr—1

What is the value of B?
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AB __ _BC
5¢2-168 3x7-7

Given:

AB =-2¢* +1110

BC = —4x% +1268

What is the value of BC?

and AB - 2x° = 2406
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AB BC

= and AB - 2x° =104
2%-90 -3x*-9

Given:

AB = —4x? — 168
BC=—-4x* - 164

What is the value of BC?
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AB BC

Given: =
44%2-73 3x*-9

AB = 5x% —230
BC =4x%-216
What is the value of BC?

and AB +2x° =239

Given: \Mrw = wwﬁ and AB —3x° = 80
—S5x“+24 -3x--9

AB=-5%x-32

BC=-5*-34

What is the value of 4AB?






